EARAROBREBRT —5 XN—ZXBISH—F

202318108 (&) NMELEHITHE

12R RIELSH]

Cl1ha UYSR—K

‘(fﬁ} W ‘I%EH?’JFE‘?] | & 1500 =

[AE%] 17%&:1,600,000  ~ 237&:560,000 37&:320,000 3  4375:240,000 @ . 5 & :160,000 H

= RESS /M 3 BF (FB) |94L (EFD | BBIEM | b3F [SiER | AR | #8 | B8 R / B / £E%S
—u — an )22 : -2-1- - SmE— Caf)
1By 3| TILISTNLY b IR 1'(3_8)'5 S Rl 2 ff;) B Ty
RiNZ—ka1—X B:RANUV—K5T MRS
Ry = 4 | FEFESE 1:38.5 4-5-5-2 [ 39.8| — 3 480 | LE&feEE CEF)
2 =T4LIZ i 54.0 (1) w) | W 7FIVF
R:ROSAVT B:ZVT2 BRI 7—L
‘ Pe—— . 76 - HBE (BT
3 733 o4 28 1(.13}32.)6 7-7-6-3 | 39.7 4 (432(; ok (0
KE-UR B I—-YVUINL RERIS
9 o FEEA : -9-7- - EEBRA (A
4 A IRV o4 P 1.(33?).3 10-9-7-7 |39.8 9 (5_13 i
R:Z2-OVIUI—> #8:OUIT KRRV VRS
Y~ i 6 | BBLS 1:39.6 3-3-4-4 | 41.0| - 11 | 478 |KEEHE (EM)
5 AESZ 56,0 a1 -6) S5y T R RIAY (%)
RiFRF BAVAVFTEYR g BE
Syt e S HIBEFOIE : -10-9- = JIISE (Ef)
67| o | VA —0=T% R & R L " |momeE
Rib—tYYa—5Y BTFRIAVESY i S
= 8 6 | THERER 1:39.9 6-4-3-5 |41.3| — 6 439 | @E—5 (&)
71810/ 7ILY #53.0 @) 4y |NiHE0ZE
RIZATVFULY AV RAYZE— NE #REg
» RTTHIA : -8-10- - JIISZ (/#Ef)
8 4| ARAEE—HFAY K 5 G 5.0 (;3,?'79) 88109 140.3 8 (Tf) HOEF
R:FZAINTGTFH— B4R IT7S5Y vy RI7—L4
s FEBR : -11-11- - FEAGR CAf)
9l7/8|fUFILLy—0O "4 56.0 (12'410/'5 1111 39.8 ; (i?g) ;Jr:ﬂilﬂ !
R:TUF—Y B:YIHYFVF &t &HIE
4 | AERERTE 1:42.4 5-6-8-10 |43.2| — 10 | 421 |BREfT (B)
10/5|5|FT17LA L e *50.0 (94 1) (13) | NEA0E
RiSZ B:RI-U—FLUY FEIEF4535
= = ~ t o4 | REER 1:42.8 1-1-2-6 | 44.4| — 1 483 | NAIRE GEFD)
N1 | T1AT-UFY ! 54.0 @ ) | @ EvILyRrRTr—L
R:AU—rvEe—0O— B:RAYIRFovT EvI Uy RIT7—L
® 11— —&BIEfI
13—7— 1,3,7,2,5,10,11,4,9,6,8
20— — 1,3,7,10,2,5,11,4,6,9,8
30—7— 3,1,10,7,2,11,6,5,9,4,8
AT=5r= 3,2,11,7,10,1,6,9,4,5,8
0 ILRE
BB 3 8204 JA R 2-3 5304 e B 2-3 2,100H 3EE 2-3-11 3,830
B B 3 220 3-1 5201 (=1 3-2 5,450 3EH F2=1 19,400/
2 200/ 2-11 670M 5 & 2-3 2,150M
11 270 =51 B9 4,790H

ABIC OV TRUTEREERRODDZE. THRIIZEL.



